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HAHIIELE foy 26 MPa
HE Bt s 3.00 MPa
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=e =M =0 X 25 mm
=2 2M HIS G, 2.60
& 2 TEE FM 2.60
& ST HIE G 2.55
232l E slump 11 cm (HE5.15&X)
=l 1.5 % (HE5.19&X)
S3tH & 0 %
bH e & Al
* S-AUE H 28 :f, =fy + 1.84xs 2 f, = (fo —3.5)+ 2.33xs= 2 U2 2 &tC}.
for = fox + 1.34%xs = 30.02 | MPa
fo = (fox =3.5)+ 2.33xs = 29.49 [ MPa fee= | 30.02 | MPa
for = 30.02 MPa
0. YFLYETE JIELZ 8t 8=
fog = =21 + 21.5XC/WZ2H C/W = (fgt21)/21.5 = | 2.373
S-AYE Hl W/C = |0.4214
o. RdsS JIE2= st 3= 2zl 2-AHE Hl W/C = 0.45 (HE5.16&X)
o. =¥HES NHGt= B2 EU S-AMUE Hl W/C=| 0.55
Z s 2-AMUE Bl W/C=]04214] = |[0.4214
* AeSM Z X+ 2B L2 2H 2F6HH - H5.19
Ctel =2 W = 175 kgf (ZE8E2.8, 2-Z&MBI55%, 8 Z80mm)
EZSTHE S/a = 41 %
S A= 1.5 %
~ & Al AtE5t= &Z2MEd )12 23 1 Higs 2&ot)| fIoi o= gt &S
2ot= &= S/a' = 41 %
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